0 Adding 3- and 2-Digit Numbers - No Carrying 0

LO: to use column addition
Calculate the answer to the following:

534 213 304 672

LA LY, t g4 LT
130 802 529 281

T Ep T 9 t 50 T 47
552 607 628 327

t 3 T 7 LY LIy
474 153 371

LT LA LY.

. 53 8 8
T 15 4_ t 54
467 796 84
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0 Adding 3- and 2-Digit Numbers - No Carrying 0
LO: to use column addition
Calculate the answer to the following:

534 213 304 672

T 45 Ly, t g4 LT

—579 —275 —388 %88
130 802 529 281

LT T 9 t 50 LI

__186 _ 894 519 _ 298
552 607 628 327

t 3 T 1 LY LIy

—533 679 — 549 —378
474 153 371

LT LA LY.

_ 489 __197 _ 393

Challenge: Complete the following calculations:

452 753 828
LT 43 t 5
467 796 849
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